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In the end, we cannot read into it; - X219982 Y212 772107 7792 K1 XY RDO
‘And he slaughtered it’, entirely in a forbidden manner

Overview

The X1 of the mawn states! that if a son stole and was 12av his father’s ox (and his
father died), he pays 'm '7 to his brothers. The 89°0 of the 7awn states? that if he stole
from his father and then his father died, and afterwards he was m2v, he is exempt
from "M 7. The difference (as 1"7 explained) is that in the X9°0 the 7r°2av was not
entirely X110°X32, since the thief (also) owns part of the ox (however in the X1 it was
XT10°82 1715 17207). Our M»dOIN is concerned why should the son pay the 01p (whether
the 993 or 'm '7), which he owed to the father, to his brothers; since they cannot inherit
the 01p payment, for there is a rule 1°12% 017 W M QX PR3

- SpAra 1Ay XYT 2) Yy 9N 42N’ Y95 Yax ynwn
It seems that it is only the '™ "7 payments that he is exempt from paying his brothers
(since the nm>av was not X110°82 1712), however he is obligated to pay them the %22,

even though the father did not take him to 7 n°2 -
= SR9IDIND 1999 121V 1P¥AYT IND N 229NN NN NYNNI NYAIN I929N)

And in truth he would be liable (to pay his brothers) even for '/ '7, if not for the

fact that we require that it be 8719782 191> "2’ -
- TN 1125 172 1Y XY 29INT 2) DY NI NWNNI NYIIND 290 NP 99 XY

And the NXw" also states that he is liable for '™ '7, and even though it is

IR,y
23,7y,
3 The exception to this rule is where there was a 700 77 on the 03P, and 72 ruled that he is liable to pay the 03p, so
once it was 71°72 Tm¥, and 7"2 ruled that he is 217 to pay the 01p, it is no longer considered a 0ip, but rather it is 1n
and one can bequeath it to his heirs.
4 The stealing (as opposed to the 7mav) was XM0X2 1913; it belonged to the father. The mwn on 2,7y states explicitly
that he pays the 93 to the heirs; nvoin is adding that presumably he pays it even if 172 729 X7 on the 795.
5> The reason why he is Mb in the X9°0 from "M '7 is (only) because there is no 12w, as 1" explained, in which case
he was 172 7Y X7 (which could not have happened, for the father died before the 17°20), therefore regarding the 993,
where the 7105 of 172w (obviously) does not apply (because it is in the sole w1 of the father), he would be 2171 for
993, even if 172 7Y XY (as is the case of M 7). See My 013 for an alternate explanation.
® mooin is seemingly trying to prove from this that even by ‘M '7 he would be 137 01p w1, if not for 2wy, See
(however) ‘Thinking it over’.
" The 89°0 cannot be discussing 172 72¥ on the 'm '7, since the father died before the 7773w took place. The only reason
he is 75 from 'M '7 in the X950 is because there is no "1M2wY, however in the Xw*1 he is 2’11 to pay M '7 to the sons
because the "navY' was fulfilled; this proves that even by 1572 7Y R?, one is 1127 01p w1, The Xw and the X9°0 are
discussing the same case (except by one the 7ir°at was 2X77 12 and the other after 287 nn).
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discussing a case of 1772 Ty R, just like the X2 -
- PPAN NN 19 NN NIV RYIIAT RIN NDIOY XYW P2 719N PNT

For there is no other difference between the Xws9 and the X5°0, except that in the

N9 the thief was mawv first and his father died afterwards -
= HAV 79 INN) AN NN NOYDI)Y

And in the X240 his father died first and he was 12y afterwards, however regarding

172 72V both the Xw1 and the X9°0 are in the same case where 772 72V X7 -
= 9P INSN NYNN XD 1IN 29D RIPIYN NYY NYADT INND

And even according to what 1''7 assumed initially that one does not pay five half-

oxen -
- 992 INSN 7N 9199 N9T DIVN NIN 51572 1Ry Y71 XY

He established the X1 by 1972 7%y, only so it should not be P2 sXx277 '3, but for no
other reason -
- 19325 D3P YN DINT NN Y2 ynavn )5 N

Therefore, it seems from this entire X°310 that a person can bequeath a fine (21p)
to his children.

Mmoo asks:
= 199N (0w :3,3n 97 M) TNNNINIY NP YWIHAT YUN )2 PNYY 13929 NYPI

And the X''2>7 asked that in the beginning of 7nnoniw 79v1 P75, 727 comments —
= MDIP INYA 19327 IWINND 19597 NN 19999NP 95

‘When did I state that it is considered money, to bequeath it to his sons by the

other fines’ -
= 172 TIYY 0IVN IVIHND M anm

And there the explanation why he can be v>7 the 01p to his sons is because he

was 1972 Ty -
- 1lyyraynh S8 NYT XOPNRY N9 ¥aYN P12 1Y XY YaN

However, if he was not 1°72 %Y, it seems from the entire 893 there in n1210> that

81"7 in the X" did not establish the @™ in a case of 772 TV to justify how he is 127 01p w>n, rather he said it in

order that it should not contradict his opinion (in the X"177) that 2p2 *Xxn 7wnn X?Y, therefore we need to be discussing

that 172 7¥ with his father on the 'm '7 so it should not be 2p2 °*X¥r. If not for the P2 *R¥n issue, 1"1 would not have

established the Xw*" by 172 7av; proving again that 1°12% 01p W OTR.

° The mawn there (on 2,87 states clearly that if the father (of the 71921 701K) died before he was 172 T2y (with the ONR

nnom1), the 01p is paid to the daughter (the 7M@) 7101IX), but not to the son’s (her brothers).

10727 stated there that 01p is considered 117 regarding that the children can inherit it. In order that this ruling of 727

should not be contradicted from the miwn (footnote # 9), X237 explained that 727 was discussing other types of n103p

(not 7inom1 oK) and in those N0 one can be 1127 03P W IR, but only (according to MooIN) if 172 7MY,

I See (for instance) on X,2n, when the query was posed to 7127, it was in a case of 772 Tnv, and the question was since

it was 1°72 7Y, whether it is considered 17mn or 01p. There was never any doubt if 172 Ty R? that it is surely not 1wn.
2
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he cannot be 1127 01p W%; so why is it here that we say that the 017 which was due to the
father (for 993 or 'm '7) is payable to his children even if 172 72y R9?!

In summation; N50IN asks that in our X713 it seems that 1°12% DIp WM 07X even if 172 7MY XY (the
cases of 793 and 'm '7), while from the X3 in M3 it appears that 1125 01p > R"K if T2y K?
772

MB0IN answers:
= ONNT RIND IND 5D NINT 1IN 291 X297 91990 W

And one can say that 829 and 1'' here do not agree with the X972 there (in maind) -
- 19732 1aY XYY 22 5Y GN M0 ANV YINNY 91927 915 X204

For they (1"71X27) maintain that one can be 1°12% 017 w712 by other nzap (besides

nom1 01X) even though the father was not 1972 TaY. mvoIn explains the difference

between n"IX (where 01p w1 X"X) and Mo1p RW (where 01p w1 OIR) -
= 1205147 1PN2NN NPT 1Y DIV YINNY D152 PN MNP DIN HY DIpT 1T

For granted that the o1 of 1521 81X the father cannot be 2> it, under any

circumstances, as the mwn» taught there, however by other moip he can be w; the

difference between 10921 01 and NMVIP INRW is -
= 1319325 Y9r997D 5192 PR NN 199N 13010 NYY DIPAY 927 INMINT DIVN 139N

Because by »"X the source from where the 017 emerges, meaning the daughter,

he (the father) cannot be 291 her to his sons -
- £522Y 02NN XYY 1¥D5%)2Y DN NN 199INT

As the X773 states there, ‘them’ (the 0°1v15 0°72Y), they can be bequeathed to your

sons, but your daughters cannot be bequeathed to your sons; that is why the o1p of
7nom1 01X, which is generated by the daughter, one cannot be w>7, just as he cannot be w>7 the
daughter (the source of the 01p) -

= 19325 W91 NIN 119N 139NT 13050 PNRYY /N 7T D95NY NINT 1) AN

However, regarding the money here, from which the 01p of 'm '7 ;555 emerge

from, which is the animal, the father can be 1212% 2 -
- 19325 YW ©IPH AT 12095

Therefore, this 217 which emerges from this animal (namely "7 '7 ,%92) he can be

12 The mwn there on 2,87 states that if the father (of the 71911 701X) died before the 01p was paid, the InomY OIR pays
the o1p to the daughter, but the sons do not inherit the 01 (according to the 1127, if he died before 17 713, and according
to w"1 even if he died 17 3 0RY).
13 This means (for instance) that the 77 nwvn (handiwork) of the na (which generally belongs to the father), does not
go over to the sons in case the father died while she was still a 719p (or a 77v1), but rather it belongs to her.
4 The 770 (in Mm,72 [172] X1P7) writes regarding ©°1w15 0°72y that 131 03°70R 23%1a% amy onbninm, we expound the
words '03°12% anX' to be an exclusion, only the 0°1v15 0°72y are transferred to the sons, but not any rights which the
father had in his daughters, these rights are not transferred to the sons.
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1912% WM (just as he can be w1 the animal 112%) —

In summation, answer # 1; there is a dispute, the X3 in M21N> maintains 1°12% 01p WA R"K if R
772 7Y, however 1" X271 (here) maintain that only by 711921 011X do we say ¥ 711 X"X because he
cannot be ¥ 711 the daughter (the source of the 01p), however regarding ' '7 where he can be w17
the animal (the source of the 01p), he can also be w1 the 01p.

mooin offers an alternate explanation:
= (x,00) N9Y) PI9T AN NAT NINON 21909 D NINT 9N 29 N29T PHY 139299 NN NN

And it appears furthermore to the ''1 that 29 and 1''9 here do not argue on the

XoM0 of ;739 and 2K of ;7w oD -
- 1505 91759 AAN 255N 759 19N P12 TAYYI PNINN NI NN 999917

For the entire ;7112 here (regarding '/ '7) is discussing a case where the father was

172 7Y with the son, and 72 told him, ‘You are obligated to pay him (your father)’ -
=19 9550 NNN 29N 157 199NRT 1999 DIP 122D WM DTN NI INNOT

For in such a manner a person is 1°12% o1p @, since the 7"2 told him, 2»n'
Y9 309 NN, it is considered 172 Ty —

In summation, answer # 2; there is no dispute; all agree that w71 X"X if there was no 172 7717 at
all, however here (by 'm '7) there was a partial 172 772¥7 and therefore 01p w>7 1 O7X.

moon responds to an anticipated difficulty:'®
= 1971572 7957 RYIIN 791D NOIWAN TV XD

So now it is not appropriate to ask regarding the Xws9, let him differentiate in
this same case, meaning we should differentiate in the case of the Xw™ -

- qyay XYY 1972 129 192 1PAN »Na 9919 Hava
Where he was 2521 mawv while his father was alive, whether it was 7°72 7%y (so he

has to pay the 'm '7 to the other sons) or whether he was not 1°72 7%¥ (so he is exempt

from paying the 11 '7 to the sons, since 1°12% 0Ip w1 X"X); this is not a valid question -
= 0P NN RV INT P72 1993 NDID 2NNY NYY XNNY

1S When 7" issues a ruling, they may initially say, "2 10°2 7nx 2»n', which is not the final poo, until they say to him,
Y2 10 XY, which is the final 17 3. However since there was a partial poo, it is considered 1°72 7Y, at least to the extent
that one can be w71 this 03P to his heirs.
16 OQur X7»3 initially wanted to establish the X (where he is 211 for 'm '7) in a case of 772 71y, However, the X723
rejected this, for if there is a difference whether 172 7% or not (in a case where he was 1ax n» 3"nX1 7av), why does
the 71wn (in the ¥9°0) offer a case of m2av 3"nRY 12k nN» where he is Mo, the 7wy could have the same case as the X
and teach us that he is 7o if 172 7Y 2. Seemingly this question applies to the current answer of MooIn as well.
17 Why the need for the X2°0 to discuss a case of 7w 2"1X1 1728 N», when we can have a case of 7D even when 120
1aR N» 0"'NXY, the same case as the X.
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For it is preferable to establish the entire ;7:w» (the X1 and the X5°0) in a case of

172 71p,18 50 it is no longer considered a B3 (so there is no issue of 1127 0Ip WM K'X) -
= 9097 N2V T3 9NNI AN NN N9 N rang

Where nevertheless in the 899, where his father died first, and afterwards he

was 12w that he is still 15 from paying the other sons (for the %95 [for which he was 172 Ty

with his father] and even for the ' "7, which he owes directly to the sons) —
- 1IN599) N9YDIND 1995 1NaVI )r¥aT DIUN

Because we require 2@ entirely XmM19°83, and it is not xox2 in this case -
= 20495191 AV 79 9NN PAN NN NIN NYINYNY 5159 199N AT YWITNY

And he is not able to inform us of this novelty, only in a case where his father

died first, and afterwards he was 12w or =2%; this reasoning works in the X1p0on, where
1" maintains P2 X¥1 wan "oR, and the reason he is Mo in the X9°0 is because it is not "72vY
XM0°R2 1710 -

= 9Pa INSN AWNN XYY NINNT 9N 1P AYNN 199 X207 XIPIYN YaN

However initially when 1"7 assumed that the 7710 said five oxen, but not five

half-oxen -
= 7572 230D NHDYDT 929Y 7999 NOYDA HVINT NIPYL 1M

And that is the reason why he is exempt in the X239, therefore the X723 correctly

asks, let him differentiate and teach us that in very same case as in the X2; it should

have stated —
=99 95 NY 1D 99N 1272 IYYO DrMINN D937 NNa

When are these words said (that he is 2°°17 if 1228 n» 2"1XY 72v), when he was Thy

1972 and 72 said to him 'Y® 30 RX', it was a complete 17 73 and it is 77 and no longer o3P,

and it is not 72 °Xx71 ‘7, for he owes his father 7p2 "7 -
=19 9550 NNN 29N NN 1D 1N KXY I 99K XOW U999 )73 119y XY JaN

However, if he was not 1972 72, meaning that 7">2 did not tell him, 'Y» Jn X', but

rather they said Y2 31°% 70K 25917 which is not the complete "7 723 -
= 2INDYDY NPV 139917 P2 NN /N XD DYLN 91V AN NN T 9NN 9912 NAV)

And he was 12w or "2» and afterwards his father died, in that case he is exempt
from paying the sons 'mM "7 on account of, ‘but not five half-9p2’, which is the
reason why in the X599 he is exempt -

18 This means an 72 7av of (only) 12 1% 7NX 277.
19 Once the father died, the son inherits part of the ox, and so when he is UMW it after his father’s death it is not 12wy
XTMD°X2 1712; he is permitted to be vmw his share.
20 However, if the mwn would say that he is MW by 172 72¥ X7 and he was n2w before his father’s death, the "ws
would be on account of 13127 01p W™ XX (since he is 1972 72y XY, it still remains a 01p).
2! In this scenario there is no issue with 1°32% 01p W> 1 X"X since he was 1°72 7Y, meaning that they told him Anx 2»n
17 10°%. However, the issue of 12 *X¥n '77 X9 remains, since he need not pay himself.
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- 99 NANR 20 NIN 2399 10 K 1Y 99K NIY 229K N2 1972 1Y N2 59991 39) NOIOY
For the Xp°¢ is also discussing a case of 172 72y X% while his father was alive,

meaning that 7"2 did not tell him > 30 X3, but rather '\ 70K 2> -
= 993 D1 75 NNI NIV 1TION PPN NTAT NIV T3 INNY AN NI XIYDA LPI DINA 5 ON

So therefore, it was unnecessary to mention in the X2°2 that he is 72 if his father
died, and afterwards he was maw, for in this manner of 72 77V X? mentioned

above, even if 2w first and his father died afterwards, he is also 115 because of X7
P2 ORYM T —

In summation; Mo explains that the question of 7°7°72 M99°% (whether 172 T2V or not) is only
appropriate if we maintains 22 X1 71 891 (that reason applies whether n» 2"nRY mav or 2"nRY NA
nav), however it does not apply when we assume 22 XX 77 "5& and the 7105 of the X5°0 is because
we require X10°K2 X210 2wy

mooin is slightly skeptical of this explanation:
=17 1559 NN 29NT 172 NTRYN NTPINT INNRNT 20T YITD PNIT AR NP

And this explanation appears to be slightly forced, for since the 1972 7727 of

Y 1n® nR 2vn is effective -
- 919325 YNNY 1195W N7 IYIND DIUNY Py

Regarding that it is considered as if the father acquired it as payment so he can

bequeath it to his sons, and it is no longer considered a 01 (which he cannot be 127 w>1n) -
- DAYV 193 71 ANY 29NN 1PN 2IYNHIY N T P B3 19 ON

So, it therefore follows that the 1% 10°% 71X 211 should also be effective regarding

as if he is liable to pay his father five whole oxen, but not 7p2 >xxn 71 -
= DN XYY PNANRD 250HWH 3»NNN NN NN NINY

Since he is liable to pay his brother on account of the debt he owes to his father,
but not for anything he owes them -

mooin offers an alternate explanation:

22 This is referring to the 9531 17p (the 77°2m1 7M°20 was after his father passed on so there could not be any 772 T0Y).
2 If they would have told him 12 1n X¥, and afterwards he was 7521 nav there would not be a 21’11 of 'm '7 at all, for he
is considered a 717713 (not a 21); see previously 2,m0.
24 According to this answer, if he was told 1% jn XX there is no issue of 1°127 DI W> 1 R"X (since it is 11n, not 0Ip), and
no issue of 7p2 °Xxn 7, since he owes the 72 71 to the father. However, if he was told 12 10°% 70X 2>, there is no issue
of 1137 03p WM R"R, however the issue of 7p2 "2 ' X9 still remains since it is not the complete 17 7.
25 He is liable to his father for 72 '77 (since there was a [partial] 17 73), so just as the P7 7n3 is effective that it is no
longer o1p and the sons can inherit what was owed the father, similarly the father was owed five whole P2, so the
sons inherit their share of those five whole 73; there is no 72 X1 here, since there was already a (partial) 17 713,
which gave the father the rights to onw qpa 'n.
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— 19325 WM TR 07 Y937 20w991 1abn pnss 1%

And the 32577 5''1 explains that by every 217, a person may bequeath it to his sons -
= 999N 27ANAY 1299 12I¥Y (ow) NIYI PIDT NINM

And that which is discussed in ;79¥1 P98, is regarding a 7313w 3299, but not regarding

the payment of 01p to his heirs (which indeed they do inherit) -
= 11299 AN INVY DAY 129D 1yDT 2EXINDN NIINH NIINY 1D

As is evident there in the beginning of the discussion that *"28 queried 7239

regarding a 73w 329p -
= 19329 YYrNNY NYAY 1297 1YY 2NNNY PYNY 2295 571 1NN RININP 9 29525un Nt I

And regarding this query, 727 answered *2X, ‘when I said that it is considered 2
according to @w''v, I meant that he is liable a 712w 3399 for this 01p that he can

bequeath it to his sons,** meaning -
= DNAN NN NN INIYaAN HN ONY

That if the one to whom the D1? was owed, and there was 7°72 17727, died after the
772 77v7, and his sons demanded payment (from the guilty party) after their

father’s death, saying and demanding -
- YN 79 NN PAWI) 999) 1119 HIAPANI PTA TTRIN 1ARY 2990 HAY 0P

‘The 17 which you owed our father and he took you to court, and you were
found legally liable’, and the respondent denied it and swore that he was not liable,

and afterwards he admitted that he was found liable to their father after the 172 772v7, we
say -
— DNYAN HEN 1N NP0 929 DIWI1N DY H9IW NYYAT NNYM INIIN) 9ININD

Since it is now apparent that when it ‘fell’ into the hand of the heirs. It was
already money (and not a 01p) that was owed to their father -

26 mpoIN initial question was that from our X723 it seems that 1°12% 03P W> 11 07X even if 172 TaY X2, however from the
X723 in (7791 p19) N12I02 it seems that 1°12% 01p W XK if 172 TV XD,
27 A 12w 1277 is when one wrongfully denied owing someone money (for any reason) and swore to uphold his denial.
If he has remorse and admits to his falsehood, the law requires him to return the money owed plus a (fifth) [fourth],
and bring a owX 127p (also called m> 12 owR). The cases mentioned in the 771N (in 13-X,7 X7p”) are regarding mn
obligation, 01p is not mentioned, so there is no 7312w 127R (or M3 owR) for 01p.
23 X,2n. We cite the query, XY IR RN nnn % N2 0NN 1°72 7°NT7AYI N2 DX N°N°91 NDIR 1A% IMINT 7277 IR I RY2
127 OV 21 ORIT RN 172 TRYT 1172 RN NVAw 1% 77 vawn nnn '[5 >N2%1N1 XM 172 °INTAYA X291 °n°N% XYY NDIR
TYNAW 12RO 20701 T RN 2R N 01 172 T A"YR 8?7 K 7v1aw. The query was whether there is a 7¥12w 1277 in
a case where the one who is owed the 01p claims there was a 772 772v;1 already and so perhaps it is considered 1n,
and not 03P and therefore there should be a 7¥12w 127p 21n.
22,
30 If he subsequently admitted to the father, there will be no 7v12w 127p, since initially it was a 0ip payment, however,
if he admitted to the heirs (after the 172 771vn with the father) there is a 7312w 127p.
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- 199 3190919 MNNY Y195 150 KDY 1Y 299HNI 173 1YY 1Y 933 9NV
For it was already tried in court and he was found liable, and he could no longer

admit to his crime and be exempt from paying it -
= AV 1299 NODY 2NNNMI RIPT NPT RIT ND 1N VIP 19PY PR INTIT 222D 15 ON

So therefore (since it was 771 when they inherited it), regarding the heirs it is not
essentially a ©1p (but rather 1n) and it is similar to the case of a ‘deposit’ which
the 2102 mentions, and he is liable to bring a »2w 329p for it -

= 1Y UAPNIVY 39 DY 9N 1713 1Y XY ON JaN
However, if the father was not 3°72 7%y with the accused, even though the heir

inherits the o1p, as the 7257 >" stated previously -
- MAY 1297 IMIPVA 29509 N9 PT79T NIIYT PPN 01PN Yan

Nevertheless, it is not similar to a 1972, and the accused will not be liable on
account his denial claim a 7y2aw 3299 -

= N YAYN 995 1NIYANYI NNY 79 INNY 1772 10D 29NN 1272 1YY 1D9ON
Even if the heirs took him to court and he was found legally liable, and

afterwards he denied and swore, and subsequently he admitted, he is not liable for
a yaw 1P -
- 32939 19Oy 9NV

Since essentially it is a 017 —

In summation; according to the 12771 > there is no contradiction to speak of, because the rule is
that 1°12% 01p w71 07X, and the X373 in M21n3 is (only) discussing whether one can be w1 a 2P
72w to his heirs. The conclusion according to 7127 is that if it was a 01p payment due, then even
if there was a 772 77v7 by the father there can be no 7312w 1277 to the father, since initially it was
a 01p payment. However, if there was a 172 7717 by the father and the father died before he
received payment, the children who inherit this 771 (not 0ip since there was a P72 772¥7)
obligation, and took the accused to court, and he denied, swore and then repented, there is a 21’1
712w 127p, since by the children it was never a 01p, for they inherited a monetary obligation.

mMooIN anticipates a difficulty:
- A9 9 ANNY NX2) PTa NTRYY 3HwNra) XD TI90NNT 33990 9na 9INT N
And this which the X773 states later that we require the word "wn2Y' to let us know

31 One of the identifiers of a D3p is that 712 01P2 77, but that is only before the 172 772v7, but after the P72 772¥7 he
can no longer admit and be exempt; this proves that the "72 77777 makes it 171, and no longer a 01p.
32 Initially, when they were w1 the liability payment from their father, it was a 01p (since there was no 172 77297
during the father’s lifetime), therefore there can no longer be a 7312w 127p, even if there was a 172 7777 by the 2w,
33 3,9m man>.
3 See X271 XM regarding a 12w 1277,
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that in a case where there was 1°72 77277, and she matured (so the payment goes
to her) and afterwards she died (before she received the payment) -

- 3551995 X N N9’ X 25 onnT
So there when the father inherits the payment, he inherits it from her (his daughter);
so, the 'wn>Y' teaches that (even) in this case there is no 7¥12w 127, since originally it was a 01p -

MooIN responds:
- YUY ANN Y X2 DU T PV 39 Y N 1paT NomYT PR DIPN Yan
Nevertheless, the case of the daughter is not similar to 1772, even though that

now it came to the father through an inheritance (after a 172 772917 by his daughter),

nevertheless -
= 11932V NN NN ITAN T N7 2N oW MYINM HINN

Since initially it was a 217 payment regarding both her and him, so even if she

died after she matured -
- APAVY 1299 21NNN XYY AN 220D 2990 VP VI

It is considered essentially a 21 regarding the father and there is no liability to
bring a ayaw j29p.

n»doIN asks:
= 3859254 (v Hnnnn M1 oW1 3,05 97 ow) NP 1IN P93 INN ON)

And if you will say, in n1ap1 ¥9X 25 where X211 queries -
- 904N ¥ NYY 903 PN IN AN ¥P9) 9293 3 U

‘Is there maturity in the grave, so the father’s rights cease, or there is no
maturity in the grave and the father’s rights do not cease’ -

35 The question is why is it that by the children if there was a 172 7727 by the father, there is a Av12w 727p if he swore
and denied to the children (since they did not inherit 017 money [for there already was 172 771¥17]), and by the daughter,
even though when the father inherited it from his daughter, it also was no longer a 01 (since there already was a 77myn
1"72), so why is there no 7¥12w 1277 when the father inherited it from his daughter?!
3 A 7o is one of the (typical) cases mentioned in the 770, for which there is a 732w 127p.
37 Before she became a N33 the 01p was owed to him, and after she became a N33 the 037 belongs to her. In any
event it was a 01p due to him, so it always remains a 01p. However, by his heirs it was never a 01 for them (only for
their father), therefore there can be a 7312w 27p.
38 The rule is that the 01p for a 77w1 (or a 73vP) who was 103X or inon1 belongs to the father. However if the 017 was
not collected by the time she became a n7312 (six months after she became a 77v1) the 01 belongs to her. The query
there is in a case where she was 10Xl or 7innon1 while she was a 77v1 and she died (while she was a 7791) before the
father collected the 0ip. In the interim the father still did not collect the 01p, until she would have been a n7312 had she
lived. The question is to whom does the 037 belong to; the father, or no one.
% This means that since she is now the age of a N33 (granted a dead one) the father may not collect the 01p, since his
rights cease when she becomes a n7x12.
40 She was never a live n1212; she died a 77v1 and therefore the 03p still belongs to the father.
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= 1NA NNX YIY NWIT NN IT NN 1NN 1Y PRT 913 92Pa 992 YIYI AN Y9 ININ)
But why should the father’s rights cease even when there is 93p3 933, for granted
that he has no rights to the 01p, on his merits (since 71272 732 ¥, so it is transferred
to her), nevertheless the father should have the 0i1p, by the power of inheritance

for the father inherits his daughter (who has no children, as the case is here) —
— NYD WIS 92 91) ©IPT 1D

Since 21p can also be inherited according to the view of the 12971 27!

N190IN answers:
- 4195595 13 MDY NPINT NN XY NANY DNSM MY 9199 PR ONNT I W

And one can say that there, the father cannot acquire the rights from her, since
the daughter was never fit to acquire the 01p -

n1voIN asks:
=192 YWY NPNY D19 4NN MM BNIATY 92 W “IRIPDIYN YA 99 9INN ON)

And if you will say, initially when the query was whether 2372 232 @, so it
belongs to her son, (or 71222 732 X and it belongs to her father), how could it belong

to her son -
= AN ¥P9Y 922 9)2 ¥ NN»INA XYY 9INPT MAYINNY A9 AN NN

Since she cannot bequeath anything to him as the X7n3 states in the latter query

that if 92p2 933 w> the father’s rights cease and he does not inherit her, as Mmoo just
explained, so how can we query that it should belong to her son -

Mo0IN answers:

- 4519325 959Y MY NN DT “0I9) NYIAL XMHD ND”NIP NIYAT 991D YN
And one can say that the first query was regarding 2321 nw2 which is 1% (and
not 012), which she can legally bequeath to her son —

41 She was a m¥1 when she died so she had no rights to the 03p. The idea of 9292 732 " is only to the extent that the
father cannot have it since now she is already a n7213, and the father cannot collect the 03P of a N33, but it certainly
does not belong to her, since she was not alive when she became a n713, so she did not acquire any rights to the 01p,
and therefore the father surely cannot inherit anything from her.
42 This query of X271 was initially interpreted to mean that if 72p2 932 v, it will belong to her son (as opposed to the
final version [in footnote # 38] that if 71272 732 v~ it will belong to no one).
43 The xma there ultimately has a difficulty how this woman/girl can have a child, and therefore rejects the first version
and accepts the latter version of the query.
4 The oixn, in addition to paying the 01p (of 103 D°wnn), must also pay her for her shame (n13) and her devaluation
(D3p), for she is no longer a 72103, and therefore less desirable.
45 See ‘Thinking it over’ # 2.
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Moo responds to an anticipated difficulty:
= (3,81 97 V) DY) PIDI INTI VIPY YPMN DI NYIAT 2) DY 9N

Even though that 2321 n212 are compared to °1p, as the 71wn taught in 79w1 pa —
= I8Y HY 1D 29N ARND NNY 1Y P12 MY NPI9DN NI

‘If she did not manage to go to court before her father died, they (all the

payments) belong to her’
- ©29 YUY )1 290 NPT INP 1) DI NYVIANT ¥NIYUN

Indicating that this ruling applies to 5''12 as well, since the ;71w stated, ‘they’ in

the plural tense, so therefore it would seem that just as she cannot bequeath the 017, she should
also not be able to bequeath the 512 to her son either —

mooIn responds that the w1 of 8"12 to 0Ip -
= 460D VPN ANN N2 12390 RPIT 19N

That is only regarding the collection of the father that 5"12 is 21p% 2PN -
=929 DOWNN NIYIN YAND NNY 22IYN WINN NN 7291575

As it is written, ‘and the man who lieth with her shall give to the father of the

s fifty, ete. o°opw’,
=—0)9) NYI NIINT D791 /) DAY NNIN ¥B1dYHN

And we expound that the fifty o°7pw is only for the pleasure of lying, indicating

that there are additional payments of ''12, -
= D)9 NWIA NIINT ¥HHo0 NIYY TUNR HNH YWINTT NN

And others expound the verse of ‘because he pained her’; indicating that there

is also B'"13, but the wp is also based on the P105 of 77¥37 *aRY 31 WX 1NN (regarding the
payment) -
= 5093 NNOT NOY YWINNY NP1 PRY 29D DINN 11 DINNN Y091 21 NN DAN

However here, granted that the violator is exempt from 217 because she cannot

bequeath the 017, which she never acquired, nevertheless -
$90919 XY NN MHNT DI HYIIN

From the 2''12 which is 17272, he is not exempt from paying to her heirs.

46 This means that whenever the father cannot receive the 01p (where he died, for instance) and the 03p is paid to her,
she receives the 5"12 as well.
4713,323 (R¥n) 027 reads 172 92 ANPY 923 KD MY WK NOR AWKy 70 121 A9 0w 17930 8D Ay 20% UORT I0)).
48 3.m M2, This AwA7 teaches us that besides 01p, there is also a 039 N2 payment. The 77N limits the 703 2w »n
payment solely for the fact that he was 77y 2212, but he still needs to pay for 5"13, like any other 1.
49 The 703 o°wnn is only for the pain he caused her, but he must also pay for 5"12.
50 There is a 03p 210 here, however technically he has no one to pay it to, he cannot pay her (since she is dead), and
not to her sons (because 12 7N3T XK2W W2 7712° 1PX); however, there is a 01p 21’1, so regarding 5" which she can
bequeath to her son, he is liable to pay.
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Summary
There are three approaches to resolve the (seemingly) apparent contradiction

between our X723 which maintains 1°12% 03P W 27X (without 172 774¥7), and the
X913 in M21N2 which (seemingly) maintains 1°32% 03p w1 "R (without 172 77297).
One is that they argue; two that our X3 is with a non-final P72 772v7 (30°2 70X 2%
1), and three that the X723 in M2102 never stated 1°12% 0P W XX,

Thinking it over

1. In the beginning,”" Nd0IN is seemingly trying to prove from the X9°0 (where the
reason he is Mo from ' '7 1s because it is lacking "112wvY'), that otherwise he would
be 2*°11, proving that 1°12% 01p w1 07X, However, in the X5°0 he never owed the 01p
to his father since the 117°2v was after the father’s death, so what connection does the
x9°0 (of ' '7) have to the issue of 17125 0P W M R"K?!°2

2. moon writes that there is a difference between 017 and 2391 nw13; that by 01p, even
if we assume 1272 732 ¥°, nevertheless she cannot be w7 it to her heirs, however
regarding 5"12, since it is 177 she can bequeath it to her heirs (even though she died
before she received it.>> How can we explain the difference between the two?>*

51 See footnote # 4.
2 See ' MIX DNV Y.
33 See footnote # 45.
>4 See mwn nom1.
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